B) #iSER AR T 0025 2 6 HIRTE

J>3d—2 BEER - B
TU” TU”

N

30

(REM{tEv9—0)

E B35 -#5-BR RER-BER)

o
E {5 TR (B8R —— T
2 R 12 30754 HoBRE
=55 (zﬁzﬁtya—u)
| o DOWN —» ||_ || ~@— DOWN -
N
0
G R 507547 AEaIRE
~— UP (D RegaLO)
: o
ST
== DOWN
bz
2 R /X F: 3 = 1=) 3
B« BLE=HRimc I R/ED
$L\‘9‘Z/\°—Z—> %4— BZEzElc SIa WSRO
BZfEF R— LA EBEMOEEN 3IcmELT. BEEIN 7cmBlT
ZIEULFRT,
e HER (SRIEIR: 50503, BRR:3020%) ZEAEL L
TH. ZOMDOEMTIFEREE TS BEVEENT
4 B OB TS AT 0T, 6 TR0
[BROBHEGH ) FBA. BB, FIERIEABEDHRR
L;ZZ)‘Uio
\ 5050 % 3020 %
NEAEL T HEM THEMDEMIRIT P IN— AIREFICKY
BZEEEESBRVBENTTVETD,
[ AR s gy ()/,, y
17\5'— I7\73+|K%E&“
KENF ETFDAEERLTVET,
D) T
BHE - %56 - BE R
1 t
e . bk
4445 i1 -
A
]I qi
~434= N L
g
1 |
B e B
N i
2 &R 1 &R
Jva—2R REER - ERE
TU7 TU”
® . fi mO N2 b(Am e izlm|
— (@ (& &) [ (8] (1]
NUFPITU— IUR=F— IZAV—9— IZHh—9— RO— ML L BN U
JL—h (£W-TH)
)2 e (4 (4
b b b E23= e Y sEpe  TEHERESY(E
VT  FLEERIE)  (FARXA ) HEER

o W & ) W = &

AED FE%E JMvOvh— BREH R&E NRfE F7y—0UIRk  FTIE

N @ = 8 @ 4

Bl #efx ExBErR ENEBER O GH I

(CALA) (csALA) (CgALA)
@ IRITATMZEN
HRITATM (=Z) = =ZUFJiR{T RITATM (JI11S) = JlEBEMEE
RITATM(HTF) = HFIFRIT RITATM(A ) = A FViRIT

RITATM (EHER) = =HEIRIRIT RITATM(ETY) = BT VRIT
RITATM(EZESEL) = ESIFURT RITATM (W Z7R) = Y ZTRR(T

@ SR—LER N Al

IXN—9— IRAL—9— IRHAL—9— REE(LEY-TY)
(EY-FU)+BREER  (EW)+FEER (W) +BEER



